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1 [AGRE 2| x[4][O]1 - 2
PAEANES 110[6]0[2 - 1 FEXE 6 3 3 50.0% 0 2 9 7 11 6
3 [ ROFIAER 4105 [x[1 - 1 FEES 2 1 1 50.0% 0 1 9 15 20 11 11
| 4 [EARIEX x| 6 |O[3[x[1x|1 - 3 AIBH 6 3 3 50.0% 1 3 9 7 5 2 3
HIEE 4|0[2]|O[5[x]|3[O]3 - 1| & INARR—)Y 6 3 3 50.0% 1 2 9 7 5 6
6 |SEEE 1[04 x]6]0O[2[x]2 - 2 E[ANES 15 6 9 40.0% 0 5] 14 3 1 1
29[8] 201 25 AOFIKE] 2 1 1 50.0% 0 1 9 15 20 11
S 3 2 1 66.7% 1 1 4 10 11 11
k3T AERR 6 3 3 50.0% 1 2 9 7 5 2 6
EEER INKEIE 9 7 2 77.8% 0 3 2 1 4 11 3
ZAHE 2 2 0]  100.0% 1 1 1 10 20 2 11
hif ERITE 6 4 2 66.7% 1 2 4 4 5 2 6
k3T =IFEFEN 3 1 2 33.3% 0 1 15 15 11 11 11
EEER HKAEFE 3 2 1 66.7% 1 1 4 10 11 2 11
R3] 10 7 3 70.0% 2 3 3 1 3 1 3
PEEEIE 3 1 2 33.3% 0 1 15 15 11 11 11
FREXE 1 2 EEE 3 0 3 0.0% 0 1] 20 20 11 11 11
BEZE 1 1 =S 4 2 2 50.0% 0 1 9 10 10 11 11
E[ANES 0 3 L H I 3 1 2 33.3% 0 1] 15 15 11 11 11
2 1| RZEERE AL 3 0 3 0.0% 0 1 20 20 11 11 11
2 0| FIZEEE: WOEE 3 1 2 33.3% 0 1 15 15 11 11 11
M ERTE 2 1| RZEERE SEEKXF 6 4 2 66.7% 1 2 4 4 5 2 6
FZEEN 1 2 EERIT K 13 4 9 30.8% 0 4 19 4 2 11 2
HKHEEZF 2 1| RZEERE EARE 3 2 1 66.7% 1 2 4 10 11 2 6
INRETE 6| x|5[0O[3]O 2 1
] 5 [0 4][0O]6]0O 3 ol &k
LLI FH B 9T 41Ol 6[x[1]x 1 - 2
IR FEEER 3| x| 2[x[5]x 0 - 3
A ES 2 x| 1| x| 4]0 1 2
EEEX 1]O[3]0O] 2 2 1
32[]
1 |[fREEXE 2|0[5[0O] 7 2 1
PAEANES 1[x][6]O][5 2 1
| 3 MR 6 |O[7[x]4 2 - 1
| 4 [[R =] 5| x| 8[O]3 1 - 2
| 5 [AEEEIE 41O[1[x]2 1 - 2
REEES 3| x| 2[x][8 0 - 3
7 [EHEXF 8|O|l3[O]1 3 0| E
| 8 iEEREX 71 x| 4 6 1 - 2
32M] /7
1 [ATHER 4 x[ 7] x]2]0O 1 2
2|IhRFR—=L 5 [ x| 6[O]1[x 1 2
4 [Je)zE 1O 5 x| 6]x 1 - 2
5 VNIRETE 2|10[4[0O]7]0O 3 - 0| =%
6|PAERE]| 7[00l 2[x]4]0 2 1
EEEN] 6 [x[1]O]5]x 1 - 2




